3 AAE 2008
of abt 0 E oAt
94 auan st A
A -AY g9 - AR FE o 4k oH AAE oAkl H] 157k W=7
= A 601,409 758,223 N 156,814
da 601,409 758,223 A156,814
W +9 217,421 180,771 36,650
71d# &9 217,421 180,771 36,650
AHrEsEd 9 35,300 35,100 200
201 IuhF-gH] 13,800 35,100 A21,300
13,800 35,100 A21,300( 03 AL 13,800
O frEfitds = 600
O FERYS 4,000,000 = 14 = 4,000
O FEHAAEH L&Y 80,000 * 39+ 30 = 7,200
O HAFE olF AH 50,0000 * 27 = 100
O HAFEO AR HAgH| 500,0009 * 3% = 1,500
O 718t TEE AP, 228 AE3 5)
400,0009) « 12 = 400
202 ©JH] 1,500 0 1,500
1,500 0 1,500 01 ool 1,500
O HFESEHE F31 = 1,500
307 F1zkold 20,000 0 20,000
20,000 0 20,000| 04 WIZFEALR Z 20,000
O A43] PAFESHA PAl F3
20,000,000 * 13] = 20,000
Mg gl FEd 9 42,621 61,671 A19,050
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e B = e o =R us
FA A G- AR - B of Aot AW E o 2kl H| 1L 57+ A E =2 7
O thrtaa Az 100,000+ 5% = 500
gAbd e AT &9 AY 139,500 84,000 55,500
202 ©]H] 1,500 0 1,500
1,500 0 1,500( 01 Zujodn] 1,500
O gt gd -9 F34h| = 1,500
307 WitolA 138,000 84,000 54,000
138,000 84,000 54,000| 02 HIZFAARZ 138,000
O ARAgitdegd 1Y A stEU 3] 73
25,000,0009 * 13] = 25,000
O ARAGgAAEgATY o+ g LyH 3 7
25,000,0009 = 124 = 25,000
O ARGt gd 1Y AR AL AF4H
1,500,0009 = 43] = 6,000
O ZHcpibdstd 9 At=8 9 tpikstn 78
30,000,0009 = 124 = 30,000
O ZAGAE 3z A 1,000,0009 = 43] = 4,000
O ZAAgArA A Aap 23k 10,0008 * 5005 = 5,000
O ARG gAY &9H] 23,000
— AFFEEH], AlAH] = 11,000
— 44 2 &5 = 12,000
O "tpibAg kg3 4" Ae Any
20,000,0009 = 13] = 20,000
b A A a8 T 365,828 492,149 A126,321
oik 8 Y 300,000 425,000 A125,000
A E Y 300,000 425,000 125,000
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S =2 k- E &)
A -AY g9 - AR FE o 4k oH AAE oAkl H] 157k A EZA
405 AAFH S 4] 300,000 425,000 125,000
300,000 425,000 A125,000( 01 AR EFFH 54| 300,000
O HHrETY A5 T=n
300,000,0009) * 12 = 300,000
FFEAAT &9 65,828 67,149 A1,321
YIZed 2 sz 3,920 4,420 A500
206 A &H] 3,920 1,820 2,100
3,920 1,820 2,100| 01 A]&H) 3,920
O 245 (5295%) 500,0009 * 53 = 2,500
O ¥YEeHY ¥ 5uxAy 1,420
— FH, AAH| 1,000,000 = 174 = 1,000
— % A 3,0008) * 100¥ = 300
- ¥ = 6,000 * 103 23] = 120
A A e 61,908 62,729 N821
101 171#] 17,981 49,229 ~31,248
17,981 49,229 A31,248| 10 7|1 AZRZAS RS 17,981
O thkrAA #8d 12,261
-7 & 5 33,5009 * 17 = 250 = 8,375
- FFFE 33,5009 * 17 * 48 = 1,608
— Axd 33,5009 * 1% = 20Y = 670
- FAdIHTT 33,5009 * 17§ * 48Y = 1,608
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